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reyvie s oMt E  ChatGPT Passes Google Coding Interview

z7. for Level 3 Engineer With $183K Salary

‘Amazingly, ChatGPT gets hired at L3 when interviewed for a coding position, reads a Google
document, but ChatGPT itself says it can't replicate human creativity and problem-solving skills.

a By Emily Dreibelbis February1,2023 § ¥ [@ -
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TEXT

After decades of research, scientist finally have an

HOW to Labe| 1 M Da‘ta Points/Week answer to the age old mystery: what does the fox say?

QUESTION
Which is the most descriptive continuation of the

above paragraph?
A) It turns out, it meows.

B) It turns out that every full moon, it raises its
skinny red snout to the heavens and lets out

deep, soulful meows.

Online Data Labeling

Labels

very low latency (<30 mins)

https://scale.com/blog/how-to-label-1m-data-points-week high throughput (5,000 labels/hr)
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OpenAl LLC has reportedly hired about 1,000 contractors over the past six months.
About 60% of the 1,000 hires reportedly onboarded in the past six months work on data labeling projecits.

The remaining 40% of the contractors are programmers.

A software developer in South America who completed a five-hour unpaid coding test for OpenAl told
Semafor he was asked to tackle a series of two-part assignments. First, he was given a coding
problem and asked to explain in written English how he would approach it. Then, the developer was

asked to provide a solution. If he found a bug, OpenAl told him to detail what the problem was and
how it should be corrected, instead of simply fixing it.

https://siliconangle.com/2023/01/27/report-openai-hired-1000-contractors-improve-ai-models-coding-capabilities/
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GPT-NeoXT-Chat-Base-20B-v0.16

TLDR: As part of OpenChatKit (codebase available here), GPT-NeoXT-Chat-Base-20B-v0.16 is a 20B parameter

language model, fine-tuned from EleutherAl’s GPT-NeoX with over 40 million instructions on 100% carbon
negative compute.

rize a long d t into a single sentence and conduct question ar **xExtract structured information from unstructured documents, as illustrat *xClassifying a sentence or paragraph into different categories.xx

<human>: Last year, the travel industry saw a big rebound in demand — and < 5 G t +abl L. th ti tlined in thi i1
numan>: enerate a table summarizin e 0 ions ou ine: in 1S emall. . M o . e o
g P <human>: Classify the sentiment of the following sentence into Positive, M

To be honest up front, I am great at strategically losing things — or rath <hot>: Positive
Team, we have to make a decision on the product plan for Goocrux v2.

I've been a big fan of Apple’s $29 item tracker, dubbed AirTag. The long-1
The first option will take us 3 weeks of development, and will achieve pex <human>: Classify the sentiment of the following sentence into Positive, M
The Federal Aviation Administration has even ruled that having an AirTag i <bot>: Negative

The second option will take us 4 weeks of development, and will achieve pe
“Luggage tracking devices powered by lithium metal cells that have 0.3 gre

The third option will take the longest -- 6 weeks of development, will act
But, you may be wondering what makes them so special and why you should cz

Summarize the above into a single paragraph. A markdown table with four columns: (1) Option ID, (2) Development time, (

Itamar Golan 22
<bot>: If you're traveling this spring break, you might want to consider i <bot>: i.
° Y ¢ pring you mie @ItakGol

| ID | Option ID | Development time | Performance | UI Change |
<human>: But isn't it unsafe to put AirTag in a luggage? |

11 [ 2| 3 weeks, | 8oms | Yos | Introducing OpenChatKit -

<bot>: The Federal Aviation Administration has ruled that having an AirTag | 2 12| 4 weeks | 66ms | No | The ﬂrst open_source alternative to ChatGPTI
<human>: Ah, why is that? 18181 6cas || 8B || b |
A team of ex-OpenAl fellows at Together have released a 20B chat-GPT
<bot>: The devices only contain 0.1 grams of lithium, which falls below tt mOdelr flne—tuned fOf Chat USIng E|eUtherA|'s GPT—NGOX-QOB, W|th over

43 million instructions under the Apache-2.0 license.

https://huggingface.co/togethercomputer/GPT-NeoXT-Chat-Base-20B
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Figure 2: Eight examples of emergence in the few-shot prompting setting. Each point is a separate model.
The ability to perform a task via few-shot prompting is emergent when a language model achieves random
performance until a certain scale, after which performance significantly increases to well-above random. Note
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ChatGPTHIGPT-4&MEKEREBINSIEIEEREIEFREE | BELESHIMIEESERENE.
EIEREREHENBAES RIS LREREIEFIRS.

Dataset LogiQA 2.0 test | LogiQA 2.0 zh test | ReClor dev | AR-LSAT test || LogiQA 2.0 ood
Size 1572 1594 500 230 1354
Human avg. 86.00 88.00 63.00 56.00 83.00
human ceiling 95.00 96.00 100.00 91.00 99.00
RoBERTa 48.76 35.64 55.01 23.14 33.22
ChatGPT 52.37 53.18 57.38 20.42 38.44
GPT-4 72.25 70.56 87.20 33.48 58.49
/ \

20225 FRlZEEES AT RIZRID IR

Evaluating the Logical Reasoning Ability of ChatGPT and GPT-4, Arxiv 2023 11
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Chung et al. Scaling Instruction-Finetuned Language Models, arxiv
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Instruction finetuning

What is the boiling point of Nitrogen?

[ Please answer the following question.
"

Chain-of-thought finetuning

Answer the following question by
reasoning step-by-step.

The cafeteria had 23 apples. If they
used 20 for lunch and bought 6 more,
how many apples do they have?

The cafeteria had 23 apples
originally. They used 20 to
4 make lunch. So they had 23 -

/ 20 = 3. They bought 6 more

Language
model

apples, sothey have 3 +6 =9.

- o o  m E m Em e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e

Inference: generalization to unseen tasks

Geoffrey Hinton is a British-Canadian
computer scientist born in 1947. George
Washington died in 1799. Thus, they
could not have had a conversation
together. So the answer is “no”.

conversation with George Washington?
Give the rationale before answering.

{ Q: Can Geoffrey Hinton have a
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yu1ﬂ;|%' InstructUIE: Multi-task Instruction Tuning for Unified Information Extraction

Task:NER
Please list all entity words in the text that fit the category.Output format is ( word1, typel), ( word2, type2).

Option: location, else, organization, person

Text: Germany 's representative to the European Union 's veterinary committee Werner Zwingmann said on Wednesday consumers should buy sheepmeat

from countries other than Britain until the scientific advice was clearer .
Answer: ( Germany, location), ( European Union, organization), ( Werner Zwingmann, person), ( Britain, location)
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